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HRARBHRERELEEFHR

(1.77)

FRi23%E3AE HRBREERI
BRRE
—RME T LESR
= o E S A AR LUt = EM AR
1L 1 5 30 150 500 R 1L 1 5 30 OB
ES] ~ ~ ~ ~ LR S A 2O ER ~ ~ ~ A R OF
5 30 150 500 5 30 150

e 0 4, 566 327 535 0 0 5, 428 51, 466 0 0 1 0 1 21
6 0 535 1,442 775 0 0 2, 152 28, 052 0 0 3 1,812 1,815 12, 638
R T A 1,405 11,731 2,525 646 0 0 16, 307 169, 078 0 0 0 0 0 0
KA 0 22 86 2 0 0 110 1, 456 0 0 0 0 0 0
753 185 11 314 16 0 0 526 8,918 0 0 494 3 497 6, 461
e 0 0 0 30 0 0 30 127 0 0 0 0 0 0
HAbKSE 0 0 0 600 0 0 600 3, 556 0 0 0 0 0 0
Ty 0 23 298 334 0 0 655 5,191 0 0 0 0 0 4
AL 0 0 0 0 0 1 329 0 0 0 0 0 0
—F L 0 2 0 0 0 2 21 0 0 0 0 0 0
iRl 22 5 0 101 70 0 0 171 2,207 0 0 0 0 0 0
~Y L 0 12 74 373 0 0 459 2,302 0 0 0 2 2 28
KIRIT A 0 0 200 0 0 200 442 0 0 0 0 0 0
PG 0 1 0 0 0 1 3,261 0 0 0 0 0 0
SG 0 0 0 0 0 0 256 0 0 0 0 0 0
ZDfh 1 180 409 2, 986 42 0 3,618 45, 249 0 3 240 200 443 3, 804
o 1, 591 17, 183 5,477 6, 567 42 0 30, 860 321,911 0 3 738 2,017 2, 758 22, 956
SRR 25,617 161, 217 80, 005 54,410 446 216 321,911 321,911 0 406 8, 593 13, 957 22,956 22,956
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AARNBHREHEEEERHR (2.77)

TH23F3AE HEREERD
BAHERBRE
BHEAE (500 LK)
1L 1 5 30 150 FOE
ES ] ~ ~ ~ ~ X HE ROEr
5 30 150 500

LPHA 0 404 10, 470 134, 864 0 145,738 | 1,141, 206
LT o E=T 0 0 0 300 0 300 451
TEFLUHA 0 100 400 0 0 500 5, 105
T A —mR1 2 0 0 0 50 0 50 50
T A —mR 22 0 0 0 86 0 86 606
J)NAnah—iR134a 0 0 0 0 0 0
INAaH—1R502 0 0 0 0 0 0 0
7V A0 A —R D, 0 0 14 0 0 14 36
VR4S 0 0 0 0 0 0 0
~U A 67 0 0 0 0 67 110
Ta 0 0 0 0 0 173
iR A 0 0 0 0 0 0 0
FC1 0 0 0 5 0 5 587
FC2 0 0 0 0 0 0 0
FC3 0 0 154 15 0 169 4, 698
Z D 50 2 6 150 0 208 2, 648
M HE 117 506 11, 044 135, 470 0 147,137 | 1,155,670
ERE RG] 1,028 7,067 | 106,576 | 1,040,998 1] 1,155,670 | 1,155,670
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HARNBRBREHELEESTET (3.7)
k2 3E3/E HERESEXL
B2 & B &
BEAR (500LBLE)

500L 1000 2000 4000 6000 7000 8000 9000 11000 13000 15000 17000 18000 O

~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ 2Lk % HF R F

1000L 2000 4000 6000 7000 8000 9000 11000 13000 15000 17000 18000
LPHA 0 7 0 2 3 0 2 0 1 0 0 0 2 17 341
WiL7 =7 75 0 0 0 0 0 0 0 0 0 1 0 0 76 530
T A a—mR1 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
T A a—mR 22 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
T A a—mR3 2 0 2 0 0 0 0 0 0 0 0 0 0 0 2 2
INAOH—R134a 0 0 0 0 0 0 0 0 0 0 0 0 0 0 6
A —HRr502 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
7V A a1 —AR 2D 5 0 0 0 0 0 0 0 0 0 0 0 0 5 28
1555 0 0 0 0 0 0 0 0 0 0 0 0 0 0 239
ER(HES 50 0 0 0 0 0 0 1 0 0 0 0 0 51 61
S 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
AF ) T—F )L 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
FC1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
FC2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
FC3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
Z D 0 0 0 0 0 0 0 0 0 0 0 0 0 0 37
M HEF 130 9 0 2 3 0 2 1 1 0 1 0 2 151 1, 244
R RG] 797 252 1 53 43 0 6 2 4 1 3 5 77 1,244 1,244
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HAGNBGRRER=EEEESTEX (47)

TR23FEIAE HKBRREBE
BERE
HBIEERES (500 LKA FBIEERS (500LLE)
1L 1 5 30 150 isyis 500 | 1000 | 2000 [ 3000 | 4000 | 5000 | 6000 | 7000 | 8000 | 9000
S ~ ~ ~ ~ | YA i ~ ~ ~ ~ ~ ~ ~ ~ ~ ~
5 30 150 500 2000 | 3000 | 4000 | 5000 | 6000 | 7000 | 8000 | 9000 | 10000
WALl 100 0 0 0 150 250 | 2,004 0 0 0 0 0 0 1 0 2 0
RILER 0 0 0 0 120 120 | 1,163 0 0 0 0 0 0 0 0 0 0
TR IR 0 0 0 0 0 0 487 0 0 0 0 0 0 0 0 1 1
A A= 0 0 0 0 90 90 503 0 0 0 0 0 0 0 0 0 0
TRAL KR A 0 0 0 0 20 20 133 0 0 0 0 0 0 0 0 0 0
Z D, 0 0 0 0 20 20 130 0 0 0 0 0 0 0 0 0 0
4 H G 100 0 0 0 400 500 | 4, 420 0 0 0 0 0 0 1 0 3 1
EERE 505 0 0 888 | 3,027 | 4,420 | 4,420 0 3 0 2 0 0 4 1 7 10
BHERE
FBIEERE (500LLE)

10000 | 11000 | 12000 | 13000 | 14000 | 15000 | 16000 | 17000 | 18000 | 19000 | 20000 | 21000 | 22000 |24, 000 isNis

~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ | BLk [HMAG| R

11000 | 12000 | 13000 | 14000 | 15000 | 16000 | 17000 | 18000 | 19000 | 20000 | 21000 | 22000 | 24000
WALl 0 0 0 0 0 0 0 0 0 0 0 0 0 0 3 10
RiLER 0 0 0 1 1 0 0 0 0 0 0 0 0 2 28
TR IR 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 12
A A= 0 0 0 1 0 0 0 0 0 0 0 0 0 0 1 4
TRAL KR A 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2 27
Z D 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1
M H G 0 0 0 2 1 0 0 0 0 0 0 0 0 2 10 82
R 1 8 4 4 7 3 0 0 0 0 0 0 0 28 82 82
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AARNBHREHELEERHNKR (5.77)

k2 3E3/E HEREEEXL
BHEBRE
—REERE
-
e N I N L YT I
D 30 150
&S 0 4,107 50 0 0 4,157 | 45,113
EH 0 0 0 0 0 0 351
EEE 0 131 504 0 0 635 | 14,629
KK A 0 0 0 0 0 0 2
K# 0 0 0 0 0 0 0
Z DAth 0 0 0 0 0 0 58
&El 0 4,238 554 0 0 4,792 | 60,153
AR R 0| 49,138 | 11,015 0 0 | 60,153 | 60,153
BHEBRE
ERRXAAAEBERBEERARSE BT LEE)
5L 30 150 160 170 180 190 200 210 220 B 4 pE
-~ ~ ~ ~ ~ ~ ~ ~ ~ sk A Gk
30L 150 160 170 180 190 200 210 220
KIRH A 0 36 25 0 0 0 0 0 0 0 61 2,205
IERERLE 540 1,196 469 0 0 0 0 0 0 0 2, 205 2, 205
BHEBRE
ERRXAARAEBDERBEERARE EEHEE)
5L 30 150 160 170 180 190 200 210 220 . 4 pE
~ - -~ ~ ~ ~ -~ -~ -~ Pk S A E Bt
30L 150 160 170 180 190 200 210 220
KIRH A 0 0 0 0 0 0 0 0 0 0 0 135
R R 0 21 91 0 0 6 0 0 17 0 135 135
BHEBRE
EfEKREBNERNEERSS
5L 30 150 160 170 180 190 200 210 220 . 4 g
~ - -~ ~ ~ ~ -~ -~ -~ Pk S A E Bt
30L 150 160 170 180 190 200 210 220
IKEH A 0 67 0 0 0 0 0 0 0 0 67 296
ARG 5 252 0 0 39 0 0 0 0 0 296 296
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A '_I_\| sle E E
HARNBREREH=Z2EESTE (6.77)
TR23FE3RE
BRHERE
EfEKRELBHERARS

5L, 30 150 160 170 180 190 200 210 220 o ERE

~ ~ ~ ~ ~ ~ ~ ~ ~ oLk X HE [

30L 150 160 170 180 190 200 210 220
K& A 0 0 0 0 0 0 0 0 3
EE R 0 0 0 0 0 0 0 3 3

BRHERE
BIEXARTREHERBEERASSS

5L 30 150 160 170 200 250 500 — ERE

~ ~ ~ ~ ~ ~ ~ o | HHE | mz

30L 150 160 170 200 250 500
RIRH A 0 0 0 0 0 0 0
R 0 0 0 0 0 0 0

BRHERE
55t ITR%%
1L 1L 5L 30L 1501 500L 1000L R
~ ~ ~ ~ ~ % HE BE

R 5L 30L 1501 500L 10001, oLk
LPG 0 0 0 0 0 0 0
Z DAt 0 0 0 0 0 0 0
EE R 0 0 0 0 0 0 0

HERREERE
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> o *h = £
HARNBHREREH=EzEESHE (7.77)
TR23FE3RE HBRBREEEXRL
BRHERE
BRTCAZILLRS
1L 1L 5L, 30L 1501 500L 1000L, EOpE
~ ~ ~ ~ ~ w2 B
R 5L, 30L 1501 500L 10001, Lk
JNAFaH—R 12 0 0 0 0 0 0 0 0 0
INNFEH—RL 2 2 0 0 0 0 0 0 0 0 0
A aH—R 32 0 0 0 0 0 0 0 0 0
I FaH—R134a 0 0 0 0 0 0 0 0 0
I FEH—RL 502 0 0 0 0 0 0 0 0 0
)V Fda =R D 0 0 0 0 0 0 0 0 0
FC1 0 0 6,976 0 0 0 0 6,976 | 25,580
FC2 0 0 0 0 0 0 0 0 0
FC3 0 0 0 0 0 0 0 0 0
Z O fh 0 0 0 0 0 0 0 0 720
2 HEE 0 0 6,976 0 0 0 0 6,976 | 26,300
TR 720 0 | 25,580 0 0 0 0 | 26,300 | 26,300
REBRE REBRE
—REEEH BIEERS
1L 1 5 30 150 EOpE 500 L 3| 500L~ [1000LLL k- g3 EOpE
> N = = i =
A ~ ~ ~ ~ MAE ROE 1000L ROE
5 30 150 2Lk e 0 0 0 0 0
72 0 0 0 0 0 0 0 WLEFE 0 0 0 0 0
IS 0 0 0 0 0 0 0 WAL T = 0 0 0 0 0
RIRH A 0 0 0 0 0 0 0 WA 7T A 0 0 0 0 0
6 0 0 0 0 0 0 0 WRALRIR AT A 0 0 0 0 0
H i A 0 0 0 0 0 0 0 bk 0 0 0 0 0
Z D, 0 0 0 0 0 0 0 Z D, 0 0 0 0 0
&t 0 0 0 0 0 0 0 &t 0 0 0 0 0
AR 0 0 0 0 0 0 0 AE R G 0 0 0 0 0
TEEE 0 0 0 0 0 0 0 TEEE 0 0 0 0 0
RAAEE Rt 0 0 0 0 0 0 0 TEEEERE 0 0 0 0 0




